
الكسریة الأعداد   فوزي الغربي  
 النموذجیة الإعدادیة المدرسة

البحیرة ضفاف  
 

 

 الأول التمرین
 :احسب المجامیع التالیة 
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5
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6
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…… b. 

1
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2
100 = 

……
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7
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1
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4
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6
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……
…… j. 

754
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……
…… 

 
 الثاني التمرین

 :احسب المجامیع التالیة 

A = 
5
2 
´ 10
´ 10 + 

17
20 

A = 
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20  

A = 
67
20 
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4
5 
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3
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10  
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3
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7
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4  
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4  
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5
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2
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´ …… 

D = 
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6  
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6  

E = 6 
´ ……
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4
3 
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…… + 4

3  

E = 
……
3  

F = 
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´ ……
´ …… 

F = 
12 + ……

5  

F = 
……
5  

G = 
5
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1
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G = 
5 – ……

6  

G = 
……
6  

H = 
7
3 
´ ……
´ …… – 

13
12 

H = 
…… + 13

12  

H = 
……
12  

 
 الثالث التمرین

 :احسب المجامیع التالیة 

A = 
1
2 + 

1
4 B = 

1
2 + 

5
6 C = 

1
2 + 

3
10 D = 

2
3 + 

1
6 E = 

5
4 + 

7
2 

F = 
7
12 + 

5
3 G = 2 + 

1
3 H = 

5
3 + 3 I = 4 + 

7
5 J = 7 + 

43
6  

 
 الرابع التمرین

 :احسب ما یلي 

A = 
1
2 – 

1
6 B = 

7
2 – 

5
4 C = 

5
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1
3 D = 
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1
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1
6 
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F = 
7
3 – 

13
15 G = 7 – 

20
3  H = 

27
4  – 6 I = 

17
7  – 2 J = 23 – 

308
14  

 
 الخامس التمرین

  :احسب المجامیع التالیة 

A = 
21
100 + 

65
100 + 

142
100 

A = 
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100 èç

æ
ø÷
ö¸ 4

¸ 4 = 
57
25  

B = 
7
2 + 

5
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9
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7
5 + 

23
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1
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5
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7
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3
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6
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7
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2
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4
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5
11 – 
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11 H = 
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49 – 

12
49 + 

71
49 – 
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49 

 
 السادس التمرین

  :احسب المجامیع التالیة 

A = 
2
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5
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1
30 + 

1
5 – 

1
3 H = 

7
2 – 2 – 

4
6 – 

1
12 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

devoir.tn 53044233  مكتبة   2 




